
Bluetooth RGB LED Waterproof Controller

User Manual

Important: Read all instructions prior to installation. WCBT-RGB10

4400 Earth City Expy, St. Louis, MO 63045  	       866-590-3533            superbrightleds.com

 

Rev Date: V1.0 04/16/2018

Included Parts

Specifications

Application Connection and Operation

WCBT-RGB10

Input Voltage 12–24 VDC
Output  10 A per channel*

Max Wattage 360 W (12 VDC) / 720 W (24 VDC)
Operating Temperature -22°–113° F (-30°–45° C)

IP Rating IP67

1 - Bluetooth RGB LED Waterproof Controller
8 - 22-18 AWG Butt Crimp Connectors
4 - M4 Bolts
4 - M4 Washers
4 - M4 Nuts

1.	Download application by scanning QR code 
or by searching for LED BLE in app store.

2.	Please check if device is powered and 
bluetooth is turned on.

3.	DO NOT connect bluetooth controller within 
device’s bluetooth settings.

*Each channel is split into two outputs. Individual output wires   
  should not exceed 5 A per wire.

Download Instructions

BLUETOOTH DEVICE PAIRING, 
GROUP MENU

HOME SCREEN

SAVED COLOR 
SELECTOR

MUSIC /  MICROPHONE

DYNAMIC MODE 
SELECTION

CUSTOM COLOR 
DYNAMIC MODES

TIMER

SETTINGS

POWER

COLOR 
SELECTION

DIMMING

Toggle Color 
Wheels (RGB, 
CCT, Brightness)



Bluetooth RGB LED Waterproof Controller

User Manual

Important: Read all instructions prior to installation. WCBT-RGB10

4400 Earth City Expy, St. Louis, MO 63045  	       866-590-3533            superbrightleds.com

 

Rev Date: V1.0 04/16/2018

Wiring Diagram

Dimensional Diagram

B
G
R
V+

B
G
R
V+

RGB strip

To Power Supply
(Match voltage to LED voltage) 2 Outputs - Use one or 

both for your application+
-

 36.44in
925.58mm

  18.44in
468.38mm

 

 3.78in
96.01mm

 

 1.58in
40.13mm

 

 2.86in
72.64mm

  3.23in
82.04mm

 

POWER
RED/BLACK RED/BLACK

GREEN/LAVENDER

RED/BLACK
GREEN/LAVENDER

8X CRIMPS 22-18 AWG 

4X M4 SCREW

4X M4 WASHER

4X M4 NUT

•	 Do not connect controller directly to AC 
power. This controller requires 12–24 
VDC supply power.

•	 Do not exceed max load. Overloading 
the controller will cause overheating  
and damage to controller and attached 
components.

•	 Complete all wiring and installation 
before connecting any components to 
supply power.

Safety and Notes


